


       
  R&S SMC100A ().  
– 1 .

1  

1.1        ,
   1.

1.2         
    .

 1 -   .

 





 

  



-



  6.1 + +
 6.2 + +
   
 

6.3 + +

   
 

6.4 + +

    
  

6.5 + +

    
 

6.6 + +

  
 

6.7 + -

    6.8 + -

2  

2.1       ,  
 2.
2.2     , 
      .

 2 -   .
    

 


  
  

  1-50   5  F  ± 110-10  1 
 
 3-64
   -175

 
0,005  -18 

  5·10-7 + 10-9/

 
 3-54

 
(0 – 17,85) 

 
(10-4 – 1) 

  4 %
  

(0 – 12) 



  FSU3  
20  – 3,6 

 


(–150…30) 

  
   0,1
   (0 - 70)



 
 3-45

 
(0,1-1000) 

 
 

(0,1 – 100)%
  


 -1

 

   2 %

 
  2 %

 
 
6-11

 
20  – 199,9 ,
 

(0,03 – 30) %

  (0,05+0,02) %
 –  


  
199,9  – 19,9 ,

 
 7-78/1

 
3  – 300 

 
0,1  – 750 

  0,1%  
 10  – 20 

  ZVL6  
9  – 6 

  
1,03 – 10

  5 %

 
 WS 452

  500 

  
 1  10 
 

  
10  -10 

 
750 

  (1,5 10-2U+ 0,5
10-28K)

  (0,06 10+ 10
10-6)

3  

        8.395-
80:

-    235;
-    6515%;
-   1004 

4    

      ,   ,
           
 .



5   

5.1        
     

5.2        
.

5.3      
      ,  30 .

6  

6.1  
     :
-  ;
-   ;
-    ,   

 ;
-    ,    ;
-  ;
-    ;
-   ,    

.
,  ,     .

6.2 

       ,
   : , ,   
,    . ,  ,  
  .

6.3      

       
  10         3-64/1.
          
5 ,      1-50.

      ,  
    10   10  ( 1    1).



6.4      

       
   3-54   +13 ,   
 FSU3     (-120…10) .

6.4.1    3-54   . 
   ,    13
.        0,2 , 0,5 ,
1 , 5 , 10 , 23,4375 , 50 ,  100   3,2    100 .
    13     (1):

A13 = A - 10 lg () [] (1)

: A -     [];
 –     [].

6.4.2.      10    
 FSU3.         
  10 ,     10   . 
     1 .  
        
 ,   5 ,   10 ,  
5 .       13  
    AMarker.   
  (2):

C = Aabsolute – AMarker,  Aabsolute =10 lg () (2)

,     A   5 , 
     (3):

A = A – A – C (3)

: A –     .
    A1 ,  -65   

    -65 ,  
     0 ,    
  1 .      A2 
      (4):

Cnew = C + A1 - A2
(4)

         (3) 
 10    -120 .      512,5 ;
1087,5 ; 2187,5 ; 3187,5 .

      , 
        0,9 .

.        1,1  
       3,2 .



6.5       


    ,   
      FSU3.

6.5.1.       ,  
     .   
   1    8 .   
   20 ,    
,   10 .    
 .     32,1 ; 71,1 ;
141,1 M; 283,1 M; 567 M; 1132 M.

      ,  
        
    -30 .

6.5.2.       F = 13
   0 .       0
,   10 ,   100 .   
  Pf,     Psearch   9 ,
   .  
   : D = Pf - Psearch .   
 :

Pf Psearch
13 M 22 M
17 M 15 M
23,4375 M 6,25 
23,4375 M 29,6875 M
1087,732 M 1087,796 M
3075,656 M 3075,72 M

      ,  
       
    - 60   f < 1600 , - 54   f > 1600 .

6.5.3.       1  
 0 .        ,
  50 ,   100 .    
          
   20   .     3,2 .

      ,  
    - 105   1 , - 95   3,2 .



6.6       
6.6.1        

  1     10   1   
  3-45.

      ,
 0 ,   1 ,     = 100
.   3-45    «»  
» .        (5):

 =( + ) / 2 (5)

     F   
(6):

F = F  - F  (6)

      , 
     :  (0,04 × F + 20 ).

6.6.2        
   6-11    3-45.

      3-45, « »
 3-45     6-11.  
  . 6.6.1

      , 
       0,2 %.

6.6.3      
   1     3-45.

      ,
 0 ,   150 ,   1 , 
   = 5, 10, 20, 40, 60, 80%.   
   «»   «»    
   (7):

= ( + ) / 2 (7)

      
   (8):

 =  -  (8)

:  -      ;
 –      .

     23,438 M; 99,9 M; 399,9 M;
1100 M; 1599,9 M; 1600,1 M; 2262,9 M; 3200 M   
 80%.        
.



      , 
        (0,04  
+ 1%).

6.6.4        
   6-11    3-45.

     3-45, « » 3-45
   6-11.     
 ,  0 ,   30 %,  
1 .       ,
    100 , 1 ,     . 6.6.3.

      , 
       1 %  23,4375   3%
 23,4375 .

6.6.5        
    .

      .  
  0 ,  5 ,    ,
   ,     
   .   
  5 ,       3 .

       
    ,    
   .     150 , 400 ,
1,1 , 2,2 , 3 , 3,2 .

      , 
   80 .

6.6.6.       

        
 WS 452.

       2-47  
.        
150 .       , 
 0,4 ,  0 ,     200
,     100 .   
     
 .     1,1 , 2,2 ,
3,2 .

      , 
       500 .



6.7     

6.7.1.      
      7-78/1.  LF
     7-78/1.   
   1 ,   ,  
 10 ; 30 ; 100 ; 1   2,55 .    U.

      (9):

U = U – 1,41×U (9)

      , 
    (0,02 x U + 10 ).

6.7.2.       
     6-11.   
   1 ,  10 ,   .

      , 
    1 %.

6.7.3.       
 TDS3054.

      ,  
   ,  10 ,  5 . 
    50 ,   1
,   2,5 .     
,    .

      ,  
   1,5 – 3,5 ,   2,    
 10 .

6.8.    

       ZVL6. 
    ,      
 .     1 ,  -80 . 
        10  – 3,2 .

      ,  
   1,8.



7   

7.1  ,    ,   
 .
7.2        " 
"  .
7.3        " 

"      .
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